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5B 481, 1, 450, 70
ASB\ 'YIB E M %v ﬁ

M,=-0.501
Mo=—0.423
A8
=0.083
7
log 8= 31— Mo+‘l‘f"
——0.501— (—0.423)
+0.083
=0.005

log E%E‘u=log Iz en—logle,
=1.735—1.610
=0.125
Elogh"w‘ 0.125, # D %D
D 0.602
logI,,=loglpsn—D
=1.735—0.602
=1.133
I
log —ﬁﬁ=10g IL°+B,_ IOg ID,
By
=1.680—1.536
=0.144
#2 log Lﬂ*”°=o.144 H#D%HEA
D= 0549
IOgIL'=10gIL°+B°—D
=1.680—0.549
=1.131

I
log p=log —=-
I,
=1.133-1.131
=0.002




Mll E%ﬂ SL|+B,=O-45, SBI=0.18, SL.+B.=0-40,

R logBr=1
M :3 D ®

AS1=0.45—0.18=0.27 ESL,_+BX=O-45n SB,=Ov18v SL.+B°=O-4O,
Soy=0.40—0.18=0.22 HIFIG R, B

G HIBE. logIy, .p,~1.882

E'F pagl® log I 5,~1.585

‘)’;_20.90 IOgIL°+3°=1.837

HF 443 .

' log ~Z*% _log I, vp—log T
Yyr=0.85 BT, BB TEIE
M EE =1.882—1.585=0.297

My=-0.002 - ﬁiog—_f’;;“ =0.207 % DFEE
L 0,959 D=0.305
"o logIz =logI D
A48 og Ir,=log Ir,+p—
I =M, L5 g il
og fy === —1.882—-0.305=1.577
=—0.002—0.259 log By} IL
o = lof :
=—0.261 8= T
=10gIL1'—IOgILo+B°
=1.577—1.837=—0.260




